Section 7.1/7.2
p. 298: 4,7,9,12, 15-19 G
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Always, Sometimes, Never

a. The acute angles of a right triangle are complementary &

b. The supplement of one of the angles of triangle is equal in measure to the sum A
of the other two angles of the triangle

c. A triangle contains two obtuse angles N

d. If one of the angles of an isosceles triangle is 60 degrees, the triangle is A
equilateral

e. If the sides of one triangle are doubled to form another triangle, each angle of
the second triangle is twice as large as the corresponding angle of the first
triangle. N



#12  In ADEF, the sum of the meacures 9" 4D and XE i< 110"
The Sum of measures 2E and £F 1< 150, Find the

Sum of the measurc$ of %D and x F.

c x0D+ %€+ &F =180

Wo + £ F =180

\:Fz ?—O)

D = ,
Ap+ 160 =1g0

(20 = 30]

XD+ 4F = 30+170 =100

RIS The measures of two angles of a triangle are in the ratio of 2:3. If the third
angle is 4 degrees larger than the larger of the other two angles, find the measure of
the exterior angle at the third vertex.

Small : 2% @ 2% 4+3x +3x +Y4 =10
med: 23X @ ex+d =180
Large: 3x+4 (2 Ox = 136
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#1b  Givenr xR=30, ABZAC
b bisecks £ ACE
BD Is one of the brisechors of X ABC

Find : 4D
- o | B A & C
50 = \80-25-31.5 =lhn.s A g

XD = 1§0 —60-32-§ :‘qz g"S h.s

17 Given: EFaH Is a reckangle
" FH=20 J
T KM, 0 are midpks

a.What (¢ the penmeter of JKMO

o)

b. What 1¢ the mosy dcsw‘phvt hame
e TkMO  prompus



¥15 Given: XP6T = (x+3y)° y B
£P=46" xR=(2y
% psR=(5x)’ ex [os

Eind: m %PsT 2, /

5X +x+3|j:|80 5x+29+4§:\90 -
bx+3y =180 Gx +2y =135

*l(lpx+3c, -1§0) = -I2X -67 = =360 :
3(5x+2y 2 136) D l§x+b|j = Y406 oS

X = 46
\’K:|§

y =30

#‘q Prove that the midpoint of the hypotenuse of a right triangle 1s equidistant from
all three vertices (Hint: see proof of midline theorem)

s Given. AALBisart. A
XCisaright &
M is midpt oF AB
Prove: M = dist fyom A B C.
c ) - Gxbend TM b 2 co that CMEMZ
e gp ACBZ IS a O Uiaqmms brseck each
W OHher)
07‘06(0)0 « ACBZ is a rect (4 wllright %)
?M‘)\/ - Diagonats of a rtmmqu are =

and biseck each arher
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